6.2 Compound Angle Formulae

Here we learn to find exact trig ratios for non-special angles!

Consider the picture: L‘) m.)c Cy(a,{g.][ufg.

3 Can we find sin(A+B) if we

know sin(A) and sin(B)?

\ or cos(A+B)?

|
-{o = T 1}3 or tan(A+B)?
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Your text has a nice proof of one of the six compound angle formulas (there are six of
them!...see Pg. 394)

Namely your text proves that cos(A— Bj:cos(Ajcos(quLsin(Ajsin(Bj

Using some trig equivalencies (from 6.1) we will find the other 5 compound angle formulae.
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Find a formula for cos(A+ B) \sT u 605(-?\) = wﬂ»)
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Example 6.2.2
Determine a compound angle formula for sin (A+ B) using a cofunction identity and a

cosine compound angle formula.
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Example 6.2.3

(0 _
Using the fact that tan(0) = m determine a compound angle formula for

cos(0)
tan(A+B)).
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Example 6.2.4
From your text: Pg. 400 #3acd
Express each given angle as a compound angle using a pair of special triangle angles
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Example 6.2.5
From your text: Pg. 400 #4ac, 8bd ' S 3 5
Determine the EXACT value of the trig ratio -Er ;{: X I{ R,
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Example 6.2.6 3

From your text: Pg. 401 #9a

Sw\(qﬁ
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If sinx=g and sin y=—%, where 0 < xs% and 37”3 y <2x evaluate cos(x+Y).

" —

COS(?—#%) COS(“ .Castg) S SW\ ._gp(g)
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Class/Homework for Section 6.2

Pg. 400 - 401 #3-6,8-10, 13
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